

Confidentiality Requested:

Yes No

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1164415

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15		
Name:			Spot Description:		
Address 1:			Sec.	TwpS. R	_
Address 2:			F6	eet from	outh Line of Section
City: S	State: Z	ip:+	Fe	eet from East / We	est Line of Section
Contact Person:			Footages Calculated from	Nearest Outside Section Cor	ner:
Phone: ()			□ NE □ NW	V □SE □SW	
CONTRACTOR: License #			GPS Location: Lat:	, Long:	
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84	
Purchaser:			County:		
Designate Type of Completion:			Lease Name:	Well	#:
	e-Entry	Workover	Field Name:		
	_	_	Producing Formation:		
☐ Oil ☐ WSW ☐ D&A	☐ SWD	□ SIOW □ SIGW	Elevation: Ground:	Kelly Bushing:	
☐ OG	GSW	Temp. Abd.	Total Vertical Depth:	Plug Back Total Dep	oth:
CM (Coal Bed Methane)	dow	тетір. дай.	Amount of Surface Pipe Se	et and Cemented at:	Feet
Cathodic Other (Co.	re, Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes N	lo
If Workover/Re-entry: Old Well Ir			If yes, show depth set:		Feet
Operator:			If Alternate II completion, o	cement circulated from:	
Well Name:			feet depth to:	w/	sx cmt.
Original Comp. Date:	Original T	otal Depth:			
Deepening Re-perf.	Conv. to E	NHR Conv. to SWD	Drilling Fluid Managemer	nt Plan	
☐ Plug Back	Conv. to G	SW Conv. to Producer	(Data must be collected from t		
□ Ourselinated	D		Chloride content:	ppm Fluid volume: _	bbls
CommingledDual Completion			Dewatering method used:		
SWD			Location of fluid disposal if	f hauled offsite:	
☐ ENHR			Location of fluid disposal fi	nauleu onsite.	
GSW			Operator Name:		
<u> </u>			Lease Name:	License #:	
Spud Date or Date Re	eached TD	Completion Date or	QuarterSec	TwpS. R	
Recompletion Date		Recompletion Date	County:	Permit #:	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY						
Confidentiality Requested						
Date:						
Confidential Release Date:						
Wireline Log Received						
Geologist Report Received						
UIC Distribution						
ALT I III Approved by: Date:						

Page Two



Operator Name:				_ Lease l	Name: _			Well #:		
Sec Twp	S. R	East V	West	County	:					
INSTRUCTIONS: Shopen and closed, flow and flow rates if gas to	ring and shut-in pres o surface test, along	sures, whether s with final chart(shut-in pre s). Attach	ssure reac extra shee	hed stati t if more	c level, hydrosta space is neede	itic pressures, bot d.	tom hole temp	erature, flui	d recovery,
Final Radioactivity Lo- files must be submitte						gs must be ema	ailed to kcc-well-lo	gs@kcc.ks.go	v. Digital el	ectronic log
Drill Stem Tests Taker (Attach Additional S		Yes	No				on (Top), Depth ar			mple
Samples Sent to Geo	logical Survey	Yes	☐ No		Nam	e		Тор	Da	tum
Cores Taken Electric Log Run		☐ Yes ☐ Yes	☐ No ☐ No							
List All E. Logs Run:										
			CASING		☐ Ne					
	0: 11-1-	· ·				ermediate, product		# O	T	d Damasat
Purpose of String	Size Hole Drilled	Size Cas Set (In O		Weig Lbs. /		Setting Depth	Type of Cement	# Sacks Used		d Percent itives
		AD	DITIONAL	CEMENTIN	NG / SQL	JEEZE RECORD				
Purpose:	Depth Top Bottom	Type of Ce	ement	# Sacks	Used		Type and F	ercent Additives		
Perforate Protect Casing										
Plug Back TD Plug Off Zone										
Did you perform a hydrau	•					Yes	No (If No, ski	p questions 2 ar	nd 3)	
Does the volume of the to							= :	p question 3)	of the ACO	()
Was the hydraulic fractur	ing treatment information	on submitted to the	e chemicai d	isciosure re	gistry?	Yes	No (If No, fill	out Page Three	or the ACO-1	<i>)</i>
Shots Per Foot		ION RECORD - I Footage of Each I					cture, Shot, Cement mount and Kind of Ma		d	Depth
TUBING RECORD:	Size:	Set At:		Packer A	i:	Liner Run:	Yes No			
Date of First, Resumed	Production, SWD or Ef	NHR. Prod	ducing Meth	ıod:		1				
			Flowing	Pumpin	g	Gas Lift C	Other (Explain)			
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er B	bls. (Gas-Oil Ratio		Gravity
DISPOSITIO	ON OF GAS:		M	METHOD OF	COMPLE	ETION:		PRODUCTION	ON INTERVA	
Vented Sold		Open		Perf.	Dually	Comp. Cor	mmingled			
	bmit ACO-18.)		(Specify)		(Submit)	ACO-5) (Sub	mit ACO-4)			

Form	ACO1 - Well Completion					
Operator	Lotus Operating Company, L.L.C.					
Well Name	Suzie 8					
Doc ID	1164415					

All Electric Logs Run

Dual Induction
Neutron Density w/PE
Sonic
Micro

Form	ACO1 - Well Completion
Operator	Lotus Operating Company, L.L.C.
Well Name	Suzie 8
Doc ID	1164415

Tops

Name	Тор	Datum
Heebner	3763	-2347
KC	4288	-2872
ВКС	4526	-3110
Miss	4700	-3284
Viola	5079	-3663
Simp Sh	5190	-3774
Arb	5358	-3942
LTD	5404	-3988



PO Box 93999 Southlake, TX 76092

(817) 546-7282

Fax: (817) 246-3361

Bill To:

Voice:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

RECEIVED

SEP 0 9 2013

INVOICE

Invoice Number: 138359

Invoice Date: Aug 31, 2013

Page: 1

Now Includes:



Customer ID	Field Ticket #	Payment Terms		
Lotus	59601	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Medicine Lodge	Aug 31, 2013	9/30/13	

Quantity	Item	Description	Unit Price	Amount
		Suzie #8		
135.00	CEMENT MATERIALS	Class A Common	17.90	2,416.50
90.00	CEMENT MATERIALS	Pozmix	9.35	841.50
4.00	CEMENT MATERIALS	Gel	23.40	93.60
7.00	CEMENT MATERIALS	Chloride	64.00	448.00
241.73	CEMENT SERVICE	Cubic Feet ENTERED	2.48	599.49
203.20	CEMENT SERVICE	Ton Mileage	2.60	528.32
1.00	CEMENT SERVICE	Surface SEP 1 0 2013	1,512.25	1,512.25
20.00	CEMENT SERVICE	Pump Truck Mileage	7.70	154.00
20.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	88.00
1.00	CEMENT SUPERVISOR	David Felio		
1.00	CEMENT SUPERVISOR	Jake Heard		
1.00	CEMENT SUPERVISOR	Darin Franklin		
1.00	EQUIPMENT OPERATOR	Justin Bower		
		GL# 9208 DESC. <u>Covent suchace</u> Ceq. #8 WELL# Suziel		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,336.33

ONLY IF PAID ON OR BEFORE

Sep 25, 2013

6,953.33
6,953.33
271.67
6,681.66

5,617.00

ALLIED OIL & GAS SERVICES, LLC 059601 Federal Tax 1.D.# 20-5975804

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:

Medicin lockets

DATE 8-31-13	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATI	ON JOB START	JOB FINISH 8:30 AM
LEASE SUZI'E	WELL#	8	LOCATION V.C	Hardtner KS	281+Ham	COUNTY	STATE K5
OLD OR NEW (Ci			3/4 EAST S		201 1100		
CONTRACTOR					-t.c A	m140	
TYPE OF JOB S	wcface			OWNER Z	otus Ope	RATING	
HOLE SIZE /4	3/4	T.D.	265	CEMENT			
CASING SIZE /	03/4	DEF	тн 247.64	AMOUNT C	DRDERED 2	25 SX 60	:40:2% Gel
TUBING SIZE		DEI		3%cc			
DRILL PIPE		DEF	PTHHT				
TOOL		DEI	TH		1 001		0 - 111 50
	040		IMUM	COMMON_	cussy	135,00 17·9	2416.50
MEAS. LINE			DE JOINT 20 FT	_ POZMIX .		90sk@ cr.35	841.
CEMENT LEFT IN	VCSG.	2	04	GEL		45x @ 23.49	93.6
PERFS.						75x@64.00	, 448.0
DISPLACEMENT	24	<u> </u>	C	ASC		@	
	EQU	IPMENT				@	
	•	Ω _σ .	id Felio			@	
PUMPTRUCK	CEMENT	ER JAK	chears			@	
			Fron Kin			@	
BULK TRUCK	TILLET BIX	<u> </u>	7 (44) (44)			@	
	DRIVER	- Justin	Bower			@	
BULK TRUCK		<u> </u>					
#	DRIVER			- HANDLING	241.73	——@ 	599,49
				- HANDLING MILEAGE		@	$-\frac{508.32}{508.32}$
	D.F.			MILEAGE	10.00 00		11977.4
<i>~</i> ,		MARKS:				TOT	AL TIXI
Cement	Did	ىنى	- <u>C</u>				
	·			and the state of t	SI	ERVICE	
	Sec	Job	los-		7		
	00-		000		јов <u>247</u>		1512,00
					CK CHARGE		13/12/-
					OTAGE		154.00
						<u></u>	
				MANIFOLI	?	@	Gp.00
				Light Vo	hrele	2 0_@	
/	1 -	<u> </u>				@	
CHARGE TO:	otus	<u>Opera</u>	ting				AL 1754,2
STREET						TOT	AL LIZI
CITY	S7	TATE	ZIP		PLUG & F	LOAT EQUIPM	ENT
_		_					
To: Allied Oil &						@ @	
			menting equipment	t			
			to assist owner or				
contractor to do	work as is	s listed. T	he above work wa	S			
done to satisfact	tion and su	pervision	of owner agent or			TOT	`AL
			and the "GENERA	L			
TERMS AND C	CONDITIO	ONS" liste	d on the reverse sid	de. SALES TA	X (If Any)	//-	1 66
				TOTALCE	IARGES	668	1.00
	VM	/ ~	7 /	IOIALCI	1	23/ 33	
PRINTED NAME	E 1 (71)	Ed DA	Conel	DISCOUN	r	IF	PAID IN 30 DAYS
PRINTED NAME SIGNATURE X						5345	7 .66 PAID IN 30 DAYS - 33
SIGNATURE X	Cal. 1		Seel			ر، ر ر	F
SIGNATURE IV	VALLY.	- 11	7000-				



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

INVOICE

Invoice Number: 138489

Invoice Date: Sep 5, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket #	Paymen	t Terms	
Lotus	59582	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-02	Medicine Lodge	Sep 5, 2013	10/5/13	

Quantity	Item	Description	Unit Price	Amount
	<u> Marian da de la lación de la compresión de la compresió</u>	Suzie #8		
30.00	CEMENT MATERIALS	Class A Common	17.90	537.00
20.00	CEMENT MATERIALS	Pozmix	9.35	187.00
2.00	CEMENT MATERIALS	Gel	23.40	46.80
175.00	CEMENT MATERIALS	ACS	20.90	3,657.50
875.00	CEMENT MATERIALS	Kol Seal	0.98	857.50
44.00	CEMENT MATERIALS	Flo Seal	2.97	130.68
82.00	CEMENT MATERIALS	FL-160	18.90	1,549.80
280.87	CEMENT SERVICE	Cubic Feet	2.48	696.56
241.20	CEMENT SERVICE	Ton Mileage	2.60	627.12
1.00	CEMENT SERVICE	Production	3,099.25	3,099.25
20.00	CEMENT SERVICE	Pump Truck Mileage	7.70	154.00
1.00	CEMENT SERVICE	Manifold Rental	275.00	275.00
20.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	88.00
1.00	EQUIPMENT SALES	5-1/2 Guide Shoe	153.10	153.10
1.00	EQUIPMENT SALES	5-1/2 AFU Insert	171.80	171.80
5.00	EQUIPMENT SALES	5-1/2 Centralizer	28.90	144.50
1.00	EQUIPMENT SALES	5-1/2 Basket	159.40	159.40
1.00		5-1/2 Rubber Plug	51.25	51.25
1.00	CEMENT SUPERVISOR	Carl Balding	•	
1.00	CEMENT SUPERVISOR	Jake Heard		
		Subtotal		Continued

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,381.25

ONLY IF PAID ON OR BEFORE

Sep 30, 2013

Continued
Continued
Continued

ALLIED OIL & GAS SERVICES, LLC 059582 Federal Tax 1.D.# 20-5975804

REMIT TO P.O. B SOUTI		EXAS 760	92			SERVI	Mediciu	e lodge KS.
DATE 9-5-13	SEC.	TWP. 345	RANGE (S:30	ON LOC	ATIONL C		1000 pm
LEASE SUZIE	WELL#	8	LOCATION 280	1 + Hawkin	a Pa	,	COUNTY	state kansas
OLD OR NEW (Cir			3/4 East		in to	•		- Charles - Co.
	~	-4	19 East	SOUTH	/ /		1	
	d)uke			OWNER	otus	5 <i>0</i> /	peratin	g
	mg duc	tion					-	1
1100001100	7/8	T.D.		_ CEMENT	DEDED			
2.1011.0	12	DEP	TH 5240'	_ AMOUNTOR 50 5× 60		.47	6-1	
TUBING SIZE DRILL PIPE		DEP		175 SV	A50 +	-5	Storac 5	- f-160 % F6s
TOOL		DEP						
	00		IIMUM	COMMON	30	٥×	@ 17.90	537.00
MEAS, LINE			DE JOINT 32'	POZMIX	20	5K	_@_ <u>_9.35</u> _	187.00
CEMENT LEFT IN	CSG.			GEL	2	<i>5</i> ×_	@ <i>23.4</i> 0	46.80
PERFS.		111		CHLORIDE			_@	2/57 80
DISPLACEMENT	/27	1505	Freshwater	ASC/ Kolse		<u>5×</u> 375≠	@ <i>20-90</i> @ - 98	857.50
	EQU	JIPMENT		Flose		44 ==	@ 2.97	130-65
				Fl-165		5 F	@ 8.90	1549 20
			1 Balding				@	+ F
	HELPER	JAK	e Heard				@	
BULK TRUCK # 421	DRIVER	7.	es Bowen				_@	
# 1621 BULK TRUCK	DRIVER	Jum	as power				_@	
	DRIVER			HANDI DIG	290	.87	@2.48	191 96
				— HANDLING MILEAGE	12.06		12.60	627.12
	73.57	MADIZE.		MILEAGE	<u>/ U U</u>	7-7		8289.96
	RE	MARKS:	•				TOTAL	0201.10
						SERVI	CE	
							СЕ	
Than	k ye	DU				40	,	
Than	k ye	DV		PUMP TRUC	K CHAR	40	, 3099.2	25
	k ye	טט		PUMPTRUC EXTRA FOO	K CHAR	40 GE	, 3099.2 @	
Than	k ye	DU		PUMP TRUC EXTRA FOO MILEAGE	K CHARO TAGE 20	40 GE	, 3099.2 @ 7.70	154.00
Than	K Ye			PUMP TRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE 20	40 GE	, 3099.2 @	154.00 275.00
Than				PUMP TRUC EXTRA FOO MILEAGE	K CHARO TAGE	40 GE	3099.2 @ 	154.00
7han			eoratina	PUMP TRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE	40 GE	3099.2 @ @ 7.70 @ 4.40	154.00
Than CHARGE TO:			eoating	PUMP TRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE	40 GE	3099.2 @ @ 7.70 @ 4.40 @	/54.60 275.60 38.60
Than CHARGE TO: STREET			eoating	PUMP TRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE	40 GE	3099.2 @ @ 7.70 @ 4.40 @	154.00
STREET	lotu.	s <i>Op</i>	eo-æfing ZIP	PUMPTRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE 2C	940 GE	3099.2 @ @ 7.70 @ 4.40 @	154.60 275.60 88.60
STREET	lotu.	s <i>Op</i>		PUMPTRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE 2C	940 GE	3099.2 @ 7.70 @ 4.40 @ TOTAL	154.60 275.60 88.00
STREET	lotu.	s <i>Op</i>		PUMPTRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE 2C	940 GE	3099.2 @ 7.70 @ 4.40 @ TOTAL	154.60 275.60 88.60
STREET	lotu.	s <i>Op</i>	ZIP	PUMPTRUC EXTRA FOO MILEAGE MANIFOLD	K CHARO TAGE 2C	940 GE	3099.2 @ 7.70 @ 4.40 @ TOTAL	154.60 275.60 88.00
STREETCITY	ofu.	s Operation	ZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD AU	K CHARO TAGE 2C	940 GE	3099.2 @ 7.70 @ 4.40 @ TOTAL	154.60 275.60 88.00
STREET CITY To: Allied Oil & You are hereby r	Gas Servequested	TATE	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD AU	K CHARO TAGE 2C	940 GE	3099.2 @ 7.70 @ 4.40 @ TOTAL	154.60 275.60 88.00
To: Allied Oil & You are hereby rand furnish ceme	Gas Servequested	FATE	ZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD LU	K CHARO TAGE 2C	940 GE	7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @	154.60 275.60 88.00 3616.25 NT 153.10 171.80 142.60 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do	Gas Servequested enter and work as i	rate	ZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD LU	K CHARO TAGE 2C	940 GE	7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @	154.60 275.60 88.00 3616.25 NT 153.10 171.80 142.60 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact	Gas Servequested enter and work as i ion and s	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD LU	K CHARO TAGE 2C	940 GE	7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @	154.60 275.60 88.00
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact contractor. I have	Gas Servequested enter and work as ion and server and are read ar	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD L- L	PLUG &	GE GE CONTRACTOR OF THE CONTRA	7.70 @ 7.70 @ 7.70 @ 4.40 @ TOTAL	154.00 275.00 88.00 3616.25 NT 153.10 171.80 142.00 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact contractor. I have	Gas Servequested enter and work as ion and server and are read ar	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD L- AFU S- Contra AL as	PLUG &	GE GE CONTRACTOR OF THE STREET CONTRACTOR OF T	7.70 @ 7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @ @ 28.90 @ TOTAL	154.00 275.00 88.00 3616.25 NT 153.10 171.80 142.00 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact contractor. I have	Gas Servequested enter and work as ion and server and are read ar	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD L- AFU S- Contra AL as	PLUG &	GE GE CONTRACTOR OF THE STREET CONTRACTOR OF T	7.70 @ 7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @ @ 28.90 @ TOTAL	154.00 275.00 88.00 3616.25 NT 153.10 171.80 142.00 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact contractor. I have	Gas Servequested enter and work as it ion and server and are conditionally as it is in a conditional c	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD L- AFU S- Contra AL as	PLUG &	GE GE CONTRACTOR OF THE STREET CONTRACTOR OF T	7.70 @ 7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @ @ 28.90 @ TOTAL	154.00 275.00 88.00 3616.25 NT 153.10 171.80 142.00 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact contractor. I have TERMS AND C	Gas Servequested enter and work as it ion and server and are conditionally as it is in a conditional c	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD L- AFU S- Contra AL as	PLUG &	GE GE CONTRACTOR OF THE STREET CONTRACTOR OF T	7.70 @ 7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @ @ 28.90 @ TOTAL	154.00 275.00 88.00 3616.25 NT 153.10 171.80 142.00 159.40 51.25
To: Allied Oil & You are hereby rand furnish ceme contractor to do done to satisfact contractor. I have TERMS AND C	Gas Servequested enter and work as it ion and server and are conditionally as it is in a conditional c	rate	ZIPZIP	PUMPTRUCE EXTRA FOOM MILEAGE MANIFOLD L- AFU S- Contra AL as	PLUG &	GE GE CONTRACTOR OF THE STREET CONTRACTOR OF T	7.70 @ 7.70 @ 7.70 @ 4.40 @ TOTAL F EQUIPMENT @ @ 28.90 @ TOTAL	154.00 275.00 88.00 3616.25 NT 153.10 171.80 142.00 159.40 51.25